sin’f + cos20

tan®0+1 = sec’d
cot?f+1 = cec’t
n
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ingﬂm‘ﬁ' 2 $in(180° —0) = +sin
cos(180° ~-8) = —cos b
tan(180° -4y = —tan §
%’ﬂmﬂ‘ﬁi 3 $in(180° +6) = —sin @
cos(180° +0) = —cos B
) tan(180° +6) = +tané
%’qmﬂﬁ 4 $in{360° —0) = —sin 8
cos(360° —8) = +cos @
tan(360°—-6) = —tan @
sinf—8) = —sin@
cos(—#) = +cos @
tan(—-8) = —tané
5@311?]“?; 1 sin(90° —8) = cos 4
c0s(90° —-f) = sin @
tan(90° - 6) = cot ¢
ﬁjviﬂ?ﬂﬁl 2 $in(90° +6) = +cos #
cos(90° +60) = —sin g
tan(90° +6) = —cot 8
{mmﬂﬁ 3 sin(270° - @) = —cos 0
cos(270° -8) = —sin @
tan(270° -8y = +cot @
ﬂQQJﬂTﬂﬁ 4 sin(270° +8) = —cos §
cos(270°+d) = +sin @
tan(270°+4) = —cot @
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A ) sin(A + B)

sin{A — B}
cos(A + B)
cos(A—B)
tan(A + B)
tan(A — B)
Vi sin 2A
cos 2A
I +cos 2A
1 —~cos 2A
tan 2A
vi sin‘3A
cos 3A
tan 3A
¥ g Y

VHI 91t = tan 5 uaz
sin &
cos &
tan @
IX 2sin A cos B
2 cos Asin B

2 cos A.cos B

2sin Asin B
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sin A cos B+cos A sin B

sin A cos B—cos A sin B .

¢os A cos B—sin A sin B
cos A cos B+sin A sin B

tan A+tan B
1—tan A tan B

tan A—tan B
1+tan A tan B

2 sin"A cos A

cos’A —sin’A

1-2 sin’A

2 cos’A—1
2 cos’A
2 sin’A

2tan A
I —tan’A

3 sin A~ 4 sin’A
4 cos’A -3 cos A

. 31an A—tan’A

1 -3 tan’A

2t
1+¢2
1—t2
1412

2t
1-t?

sin(A + B) + sin(A — B)
sin{A + B) —sin(A — B)
c0s(A + B) + cos(A - B)
cos(A — B) — cos(A + B)
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X sin C+sin D 2 sin C;Dcos CED
sin C—sin D 2 cos C+Dsin €D
2 -2
cos C+cos D ZCOS(ﬁcosC_D
2 2
cos C~cos D 2 sin C-f'DsinD'C
2 2
X1 a b _ ¢
sin A sin B sin C
a’ b%+ ¢~ 2ab cos A
b2 ¢’ +a%—2ca cos B
c? a’+b*~2ab cos C
W.9. AABC %ab sin C
lbc sin A
2
1 .
—ca sin B
Vs(s —a)(s — b)(s —c)
- 1
a5 5(a+b+c)
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